Multiplication et Division par 1 000 (B)

Trouvez chaque produit ou quotient.

7,7 x 1000 = 3,48 x1000 =
3x1000= 1,3645 +- 1000 =
9,56 - 1000 = 1,18 +1 000 =
6,2+ 1000 = 29+1000=
7,291 x 1000 = 1,5832 +1000 =
4,2067 x 1000 = 1,0873 X 1000 =
7,107 x 1 000 = 7,95 +1000 =
5,7521 -1 000 = 9,8 x1000=
2,4833 - 1000 = 6,6058 X 1000 =
5+1000= 7,34 +-1000 =
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Multiplication et Division par 1 000 (B) Solutions

Trouvez chaque produit ou quotient.

7,7x1000=7700

3x1000=3000

9,56 ~ 1000 =0,00956

6,2 +1000=0,0062

7,291 x1000=17 291

4,2067 X 1000 =4 206,7

7,107 x 1000 =7 107

5,7521 +1000=0,0057521

2,4833 +1000=0,0024833

5-+1000=0,005

3,48 X 1000 =3480

1,3645 <+ 1000 = 0,0013645

1,18+1000=0,00118

2,9-+1000=0,0029

1,5832 +-1000=10,0015832

1,0873 x1000=1087,3

7,95+ 1000 =0,00795

9,8 x1000=9800

6,6058 x 1 000 = 6 605,8

7,34 +1000=0,00734
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